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“Jina”, what does “J ina"TnianLE:’mwn o
(A) The Conqueror (B) The great soul
(C) The God (D) Non-violent
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(A) TEfEren (B) I=iRHT

(C)

As mentioned in Asokan inscriptions, there
were five major political centres in the
Mauryan empire including the capital
Pataliputra and other four provincial
centres. Which among the following was
not the provincial centre ?

(A) Taxila (B) Ujjaiyini

(C) Suvamnagiri (D) Indraprastha
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(C) @is
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(A) Amber
(C) Luc know
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Rigveda contains dialogue between a
sage named Vishvamitra and which two

rivers 7
(A) Sutlej and Chenab

= following had exhorted
h“ﬂm :;?ﬁ:zgutgs to rea%isc _ @hat the
Constituent Assembly was British-made
and was “working on the British plans as
the British liked it to be worked out™ ? -
(A) Sardar Vallabhbhai Patel @
(B) C.Rajagopalachari Sk
(C) Abdur Nishtar
(D) Somnath Lahiri

et T 3 drfiere e 3 g
T J SToelt W w8" w1 F forg wuE
& im frefafea & & fem oeifts g

w171 feRam o ¢

(C) Tégrm ftrfne fofers wdifem
(D) f2 afe Yefigeht wwifta

Chittaranjan Das & Motilal Nehru had
formed which of the following political
parties within the Congress to argue for
a return to council politics ?

(A) The Indian League

(B) Swaraj Party

(B) Beas and Sutlej (C) Hindustan  Socialist ~ Republic
(C) Chenab and Ravi Assm:latmn
_ D B_eas and Jhelum (D) The Bombay Presidency Association
MN2 =

n



_ ..I&fcm w‘% | () fagm
E irui (Siroy) Lilly is the only terrestrial

FEE %1 a8 AfETH ﬂiﬁfﬂgaﬂmﬁ'aﬁ
TETaq it ¥ st Aaad # fEered &
qY-gy @Wod & Guds i stEEdm
JHTeTerd IE A I HEEHA F AR H
ATy fmr e 7

A) =i (B) ®MEH

(D) AT

WTere was the session of the Congress

had taken place in which Mahatma
Gandhi convinced other leaders about
the need to start a non-cooperation
movement in support of Khilafat as well

as swaraj 7
(A) Bombay (B) Lahore
(D) Nagpur

(C) Calcutta
Fraferfea & & 27 g Regmme &
FYOH AT AR PR eI EE S AW A
fi T o 2 7
(A) B¢ Eme @A
(B) THM 390 @
(C) W& HESH FATH HTHE

D) @ TFRE G@H

0 among the following was the

founder of the “Khudai Khidmatgars”
and is also known as Badshah Khan ?
(A) Syed Ahmed Khan
(B) Hakim Ajmal Khan
(C) Maulana Abul Kalam Azad
(D) Khan Abdul Ghaffar Khan

1913 # T e W ST
g
)

(A) Teeeht (B) ®ER

(C) wowar D) 84 wiaenl |
The  Hindustan  Gadar  Party’s
headquarter was located at in 1913,
(A) Delhi (B) Lahore

(C) Calcutta (D) San Francisco

fied () sofech/facht wma &
ﬁﬁﬁﬁ'ﬁ'ﬁﬁﬁﬂtm‘\'};ﬁm‘iiﬁm

wEHTE el pafef /e & 7
(B) qfFgmg ama

Lilly found in which of the following
states of India 7

(A) Assam

(C) Manipur (B) West Bengal

(D) Tripura

Thoam g
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T ?
(A) T B) WeA WG
(C) (D) WEE

13,

“Oriya Plateau” is situated in which of

the following states of India 7
(A) Rajasthan (B) Madhya Pradesh
(C) Karnataka (D) Maharashtra

w1 s 1 .W_M |
Tt b 12

) Fergff aat () |

14.

(B) g arg witg=m

(C) Ve wghera |

(D) eftror-afgam aai & (777

What causes rainfall on the coastal mﬂ?
of Tamil Nadu in the beginning ©
winters ?

(A) North-Eastern Monsoon

(B) Local Air Circulation

(C) Temperate Cyclones

(D) South-West Monsoon

T ¥ e e 83 e TR #)
UATEE TTE1 AT B 7

(A) TEh 1= TS

(B) Il TieE AT

(C) TeT IS

(

(D) Uit e (vremeft) T

15.

Which type of granite is found in Jalore
district of Rajasthan ?

(A) Rakhee Green Granite

(B) Merry Gold Granite

(C) Black Granite

(D) Rosy Pink Granite

(C) ufvay g
o hure
Portuguese i .

l'i}H{‘lwmg state in
(A) Goa SUTs of
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agriculture sector in India ?

(A) Horticulture
(B) Potato Production |
(C) Petroleum Producti
(D) il seed Production

wrt
_—
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___________________ o fed T
T vy s ey, A R
g, R G (1 Tt ) iR g
(A) F‘q-q-mq ()
g o 3 Frtregr e, iy l;?'fg;/ 3:% 4 office of Insurance
(B) T weerry Where is the hgaﬂclnpmem “Authority”
(C)] anieles a1 etz afafy Regulatgﬂ’ &
Ff I g located * : (B) New Delhi
Who approves the Fair and Remunerative (A) Murrﬂ?fﬂii (D) Hyderabad
Price (FRP) of sugarcane ? (Gy Chere fauifored TEU™ &
(A) Directorate ~ of Marketing and Wﬁ@aﬂﬂm R
Inspection, Ministry of Agriculture 20. ?
(B) Ehe National ~Sugar Institute, ﬂ%@;
anpur [ AT g
(C) Cabi_nct Committee on Economic U(B} mm(mj’%]
(D) ng?'llrlt-lsissio for Agricultural C ©) aﬁﬂ?ﬁ* 3 (ilé,a HIETEC
i Prices . D Cos &) %;&If the-ft}!!owi“,f is not a type of
Which o i
17. Fefefes & 4@ #7 @ o vt s e ostiony e o
‘31’!'{ ET b Tﬂm 8, forwa EB) Loan Association
FH FH F AUF (TR T T5) (C) Commercial Banks .
b : : (D) Credit Co-operative Societies
(A) MR Tayq g srfufigg 6D , Rif 1947 % it
(B) weram widt wftg amdftor dem e ﬁﬁa;mmmm” %mﬁ 9 T 3N
- T (ST ST e faumdes 3 WRd §@R
Eg;j::ﬂﬂl#élﬁm} 2011 ﬂﬁﬁqn,égasﬂﬁvuln%ﬁ"ﬁ?
: 194 194
Which of the following is an Indian ?f'm?] 2 ﬁiﬂ} L
Labour Law and Social Sa;m‘itqule}?sure \,&% ) W10 °
imed at teeing the “Right to )
workn g e y IndepercFosing of the Indian
(A) Indian Institute of Management Act Iﬂd;}li!gfi!::f;%ﬂd ?}-Iﬂ D904'?_ India became a
(B) Mahatma Gandhi National Rural o P ¢ Dominion Legislature
Employment Guarantee Act made 1aws from 1947 to 1949 under the
) Th S R Wiies provisions of which section of the
( (Amendment) Act, 2017 covernment of India Act 1935 2
iy x (A) Section 100 (B) Section 101
(D) Citizenship Act (C) Section 135 (D) Section 130
gl swifer s & Prefafea 4.8 /e 5, W @ W g @ e i
AA) STTET (B) RL3T “ﬁ%ﬁqﬁﬁﬂﬁ%mﬁ}mé? a2
(C) Fiferam A (D) ReAgA e W 3T ) 6w
“Golden Revolutio n” is respfgns:hle for (C) 9 w&R (D) 12 78y
the development in which of following A person who is not a member of

(A) 3 months
{C} 9 monthg
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24.

Name the high court that has jurisdiction
over the Union Territory of the
Andaman and Nicobar Islands.

(A) The Calcutta High Court

(B) The Delhi High Court

(C) The Madras High Court

(D) The Andhra Pradesh High Court

TaEE Ue gl & dfeaE & oo v
#1 sz g 73at s 74af @At

% Gy e I R T 7

5.

Lo fewmm, 1992

(A) 3mRET, 1973 (B) &, 1952

(D) femaw, 1973
When 73 and 74" Constitutional
amendments were passed by the
Parliament of India for the existence of
Panchayati Raj Institutions ?

(A) October, 1973 (B) November, 1952
(C) December, 1992(D) December, 1973

¢ 1928 # drfiae TEE ®fEfa g
frefetaa & & ® w1 st/ fadas
e féva T e ?

(A) T fam

Ny s o e !
(C) HATHIY

(D) fau wftr 33 fda
Which among the following acts/bills
were proposed by the Motilal Nehru
Committee in the year 1928 ?
(A) Ilbert Bill

(B) Bill of rights

(C) Criminal Tribes Act

(D) Sindh Land Aviation Bill

i e et 2 o ) 5 1§ s g

| 26. v ¥ wan A frefofan § 2 Ar @ aA 7

T

(A) 30H TR TH EW 2 |

(B) 98 U EgEn == 2 |

(C) T® vameell § wehuy w19 =
TSt o1 Trehe 2 |

(D) &2 3mfey 9 = vk 3 & 3 oed
1 FATEAA B ASATR |

Which one of the following is correct

regarding larynx ?

{A) It houses the vocal cords.

(B) It is a bony box.

(C) It prevents the invading pathogens
into the trachea.

(D) It is an organ made of cartilage and
connects the pharynx to the trachea.

27.

18.

3T Aehifarn fos sepm 1 FEEE 2 ¢
A) BA Hi [B) &=

(C) wWEer  @HD) T

Milk of Magnesia is which type of colloid ?
(A) Solid Sol (B) Sol

(C) Aerosol (D) Emulsion
frafafen § & ®9 @1 SEES 90
WS YR # WIEITH il 7 4 € 7

(A) ¥Ew e (B) 30T

(C) #¥HTd | D) W=

29.

—

Which of the following organic
compound coagulates the protoplasm in
the human body ?

(A) Methanoic Acid (B) Ethanol

(C) Methanal (D) Propanone

fefafEr f PR W G SR TUSE |
fRaTEm M TR R ?

(A) HFHAF (B) T
(€) w1 (D) Bfer

Which of the following is the only Dwarf
planet located in the inner Solar System ?

(A) Makemake (B) Ceres
(C) Pluto (D) Haumeg
MN2
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30. fagsn Ges) o Sy e aris | 35, e I %ﬂﬁﬁf w59
: = 3R 15% A T 3h
e L wiop #ren & 7 3| 9 a4 3 @ 78 25% FIOELE ST 5
et 1A) _a 3P E | (B) v s 20% ThEEd T %m% e
(C) HFMITF 3027 (D) weaplfs st z 10,736 52 & | & e
Which of the followi fobe R ? it
in the stinging hair :fE ?1En$i§|?:a:'scsp;¢5:n[ Div}raipcnds 24% of her mﬂﬂﬂji}’ salary 'fo|
(A) Methanoic Acid(B) Ethanoic Acid food and 15% on the education of her 4
(C) Oxalic Acid (D) Ascorbic Acid ohildren. Of the remaining salary, she (b
3. FR-=plide W 2 A9 § ahmd wro spends 25% on entertainment ?:; f::’ﬁ v
: e. She 1s no
yéE E@E—? s Udets .ELM :nl ﬂc gg;?ﬁit is the monthly salary of }15* }
2 Eﬂ%q | EATH 10 3R & sitga =wifin Divys? 1
R 6 91, #3310 Bﬁa‘{ﬁ?ﬁ}w_ l(A) 232,000 | ,ﬁ?&} 30,200 '
8.5 € TN | 5% 91E AT 10 vt wm (C) T30000 (D) ¥32,500 \ it
IRt 5.5 0 311 o 3k Seed 10 T d | g P @ fopm e 4 frctmgm 3
ot g 7 w2 v | 7w e e @R 7 4
feru frm st it sem 2 ¢ i 158
~In the England-New Zealand one day sfafstd - P
‘65— match, due to rain, England needed 324 (C) fersa - 3 and
: $ runs in 48 overs to win. In initial 10 overs, (D) mithel — @GR i
the average scoring rate was 6, but in next qra’ A
10 overs it increased to 8.5, It then declined | 37. e
to 5.5 in next 10 overs and again rose to 7 Fodfmdase ?
in next 10 overs. To win the match now (A) EHER Sfe v fewmEr w2 |
what average is needed ? (B) BHER =fdd  &Hm qgﬁ % @M
(A) 825 ICCAGLIEA|
(B) 6.75 (C) BIHER =afem a8a & 9em w0 2 |
(C) 7.75 [ (D) BHER sl 1 w1 a=ad § a
(D) T8 & %1 78 /None of these L feamd 2 st 2 |
32. Freffgndid e @i FaaR 7 | 35 Fofefaa 3 @ foa fawey & ot
Which of the following is in descending h_g:f{-‘aﬂi 7
order ? (A) H9R, 9o, e
(A) 5/8;9/13;11/17 B) =, ¥, =5
(B) 5/8:11/17: 9/13 {C
(C) 9/13; 11/17; 5/8 D) Py se—
( s 913, - - .
g1 0484 25 _ 39. frafofaad & frn sy vz amg 2 -
33, 208, 200« 22 g d (A) WS BraErd wafafy @ |
0.0064  6.25 1.1 s b
0.081 0484 25 .. (B) A9 373, 534 e |
Square root of = <~ X o (C) 391 2313 wret & =g 1 ayay |
' " 0. CEE TR 9 H
0.34](C) 0.75 (D) 0.55 D) 8% 9gH =1 Fe |
(A) 0.45 [(B) 0 : :
N T G o e 4—1_9"]""'?7!111:1'3: 40. W%WTIMWW%?
4. (87" -9 ""E_{I g—ll-f:-{-'l-_l-‘.l'_i Sty (A) ‘ﬂﬁ]‘ﬁﬂﬂq‘l’{'ﬂﬂ‘lqﬂﬁ (B) g&m%‘/
Thevalueof (8~ -7 7 ~ — ' (C) TmgH a4y :
w20 @2 (©15 B0 1 O WG|y wh
___________ i 6 i o
2¢5%
§ /-




41. Choose the antonym of underlined word
from the given options :

R He is very fastidious about his choice of
Jg  food.
— EA! Careful {B) Thoughtless
. } Careless (DY Indiscreet

42, Put the correct form of the verb ¢

I am the person who o be
blamed.
A) am (B) are

(D} were

43. Which of the followi spellings is
incorrect 7
“TA) Jourmey Amateur

(C) Beneficiary
Read the following paragraph and answer
the following questions : (Q. 44 and 45)

India is marked by a diversity of physical
features such as mountains, plateaus, plains,
‘coasts and islands. Standing as sentinels in the
north are the lofty snow-capped Himalayas.
Him+alaya mean ‘the abode of snow’. The
Himalayan mountains are divided into three
main parallel es. The northemmost is the
Great ya or Himadri. The world’s highest
peaks are located in this range. Middle Himalaya
or Himachal lies to the south of Himadri. Many
popular hill stations are situated here. The
Shiwalik is the southemmost range. The
northern Indian plains lie to the south of the
Himalayas, They are generally level and flat.
These are formed by the alluvial deposits laid
down by the rivers — The Indus, The Ganga, The
Brahmaputra and their tributaries. These river
plains provide fertile land for cultivation. That is
the reason for high concentration of population
in these plains. -
44. World’s highest peaks are located in the

(D) Aniversary

A} Shiwalik range
(C) Middle Himalaya
(D) Southermmost range

(B) Iron ore deposits
(C) Diamond mines
(D) Copper deposits

46. v fifFem o2 W H, @ '+ w1 g
B, ‘D ' 1 TR, fa’ e ST R
Ao o Hramta R
In a certain code language, ‘@’
represents ‘+', ‘@@’ represents ‘-, ‘a’
represents “+" and ‘97 represents “=",
frferfiaa wom = s @ .

Find out the answer to the following
question :

R0 g 100 B SH4 D 121 all =7
4R 58 (B) 158

(C) 62 (D) 205

gena F feu 7o wE ° | o dE I

Hifem :

—

Find out the wrong number in the given
sequence of numbers :

T B I
V?} 605! 588, 6117 634, 617, 600
A)

611 (B) 603

(C) 600 D) 634

17 9, 1998 T TATE 1 14 =1 fe7 =1 7
(A) BFER (B) TR

(C) T9ER (D) weEn

What was the day of the week on
17" June, 1998 ?

(A) Monday (B) Thursday
(C) Wednesday (D) Tuesday

49, T A+Bw I 2fE A, BH AR,
A-BE ad RfE A, BFWER; A%B
Fiadefr A pE@masitaAxBs
sf2fs A BRam sfafgadd
FREmafep, Qe AR ?

If A+ B means A is the mother of B;
A - B means A is the brother of B;
A % B means A is the father of B and
A = B means A is the sister of B, which

of the following shows that P is the
maternal uncle of Q 7

(A) Q-N+MxP (B) Q-89 pX

P

(C) P+S<N-Q W"HWKQ

7
X Gpmu.}roa—sx‘*ﬂ{z.'-%-fl _Mcr}%
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T AT 9 A ST el @/ |
%H‘ﬁﬁaﬁhﬁigqﬁﬁqﬁh

[ aftagh T2 |

(A) afe Fae Fred 1 smor e 2

(B) 712 ae fasd 11 srgeror sean 2 |
(C) I A o1 1471 1T S0 HTa & |

AD) FRAA I A A 11 g FETR |

i

In the question below two statements
followed by two conclusions numbered 1
ar}d I are given. You have to take the
given two statements to be-true even if
they seem to be at variance from
commonly known facts. Read the
conclusions and then decide which of the
given conclusions logically follows from
the two given statements, disregarding
commonly known facts.
Statements : All poles are guns. Some
boats are not poles.
Conclusions :
I.  All guns are boats.
II. Some boats are not guns.
(A) If only conclusion I follows.
(B) If only conclusion II follows.
(C) Ifeither I or II follows.
(D) g%either I nor II follows. 3 eeie
BT B H, Wi TeH
& wetarE ¥ e ﬁ%ﬁ ESLR
s _31134 T W Y % 4G 3 d
;E;! qfom oo fear & | 3% fE T
o o foap T o ?
Recently, Shubhankar Sharma, Indian
golfer has the best result at the
after finishing In tied-eighth position
at the R@ya[ LiVEIPO‘-‘l Gle Club in
Merseyside, Eng]md. In which year he was
conferred the Arjuna Award ?

9" (ATESG)

oy [ e P

frferfad
3 e @A are e

Hem g T8 ? PN
(A) gﬁgﬂigﬂﬂﬁﬁimm

i @ fma e

fafies (sefgza
BEEERE

) s
[y T TETE 4 (I mﬁm =)

| () qrat wrE+d i

&

—

54.

' ' t
Which among the folloWing Governmen
of India undertaken Corporation has

{ join “Asia
become the first member to join 8
Transition Finance Study (roup
ATFSG)? _
::{A} Iﬂdigi Infrastructure Finance
Company Limited .
(B) Industrial Finance Corporation

Limited
(C) National Housing Bank o
(D) Power Finance Corporation L1m1ted_
T WEI-20 % HHH HAE 5
————— ’
2R, WA 3 STTeTEs d T T 2024 F

for frfrfaa & @ feu_ 2w = wE

Hrdt 2

(A) %TH (B) AT

(C) FTA Q/(IS) ST

During the closing ceremony of

Startup-20 at Gurugram, India officially
handed over the torch to which among
the following countries for the year
20247

(A) France (B) Canada

(C) Brazil (D) Germany
ELCE

ﬁ,a%é.aﬁ iy :%7{ |l !
T i Eliilt;ﬁj
WA % WS AR § Ay s

AT e~ 3uRa $-yra =1 3@y

& eAR?
Which portal is launched by Chief
Justice of India (CJI) D.Y. Chandrachud
that allows advocates, litigants, citizens
to request QR code-based e-passes to
enter in the Supreme Court of India ?

/
#) YHEITaH / SuSwagatam
© /SuPranam
(D) AR / SuSatkar

(A) 2016
(C) 2020 (D) 24
MN2
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st Tl et 3 Wia A 3.5 79 9w &
o5 o0 S ST T ) et S T
W F I A WA vt (NCAP) &
fiFa | NCAP 1 g0t w9 s | o
(A) 71 R FEEHE TEaH

_(B) =R HHTH TIH
(C) R THAlers NgaaH
(D) = FR G U
Recently, Union Minister of Road
Transport and Highways Shri Nitin
Gadkari launched the Bharat NCAP
aiming to enhance road safety by
elevating vehicle safety standards for up

to 3.5-tonne vehicles in India. Give full
form of NCAP.

(A) New Car Assessment Production
(B) New Car Assessment Programme
(C) New Car Acknowledge Production
(D) New Car Assessment Portal

56, @ oo Fafafea § o fw e A
SR 100 fftwr SR & woH ¥ for
ST - ST 2R B S A I T R 2
(A) —(B) Faid
©) s fam  [(D) e |
Indo-US task force has been set up to
elevate trade in which of the following
sector to $100 billion in next decade ?
(A) Medicine
(B) Space
(C) Computer Science
(D) Electronics

'@ﬁ?ﬂﬂﬁm?mﬂ%mw el
o & 3 % fepan Smem 2

(A) F18 (B) 3wy, ¢

(€) g i yd =
World’s first 7-minute cancer treatment
“jab” to be rolled out in which country ?

(A) England (B) US.A.
(C) UAE. (D) China

.....
—
ot dopt i i o L e i e i sasati i ] e 1 L BT

" (A) HTEEA o hereL 94 H O] _
a1t a1 fow i 3fe 60 39 FHEAE |
(B) A1ded % hetst a9 1 0] ZT
ot ot o foru 7 3Ae 58 o @ FAA |
(C) Az % Shetgr ad # 01 FAa Bl 23
o 1t ot o 1 3 60 @ A |
yr’ 74 % hergt 7 1 01 Fad Bl 18
o it o feru 71 5 65 = AFAE |
What is the age limit for females in
“Mukhyamantri Ladli Behna Yojana”
implemented in Madhya Pradesh 7
(ﬁS Must have completed 21 years as ofl
01 January in the calendar year of
application and less than 60 years.
(B) Must have completed 21 years as on
01 January in the calendar year of
application and less than 58 years.
ust have completed 23 years as on
01 January in the calendar year of
application and less than 60 years.
(D) Must have completed 18 years as o1l
01 January in the calendar year of
application and less than 65 years.

59. Hie (e 3 v % gen e
PMI il off qER S | TE
gt Preferfiaa § § f68 S S ST
R R g e e 70
(A) "t [B) #¥](C) ¥ (D) T
Northeast Frontier Railway, bags PMI
South Asia Award for “Micro Project of
the Year”. This Project 1s “Instruction
Detection System” to save life of which
b Bt e oD
oat ephant eep (D) Do
60. mﬂﬁwmﬁnmgﬁtn (IAF) ttﬁ?t%{
T A TN IE e T S siee
T 1 A T |
annual training exercise
Western Air Command of

Name the
embarked b
Air Force (IAF) recently.
) wafGih/Swastik (B) Y@ / Shankh

Indi

(C) @igd /Tandav [(D) A3 / Trishul |
ﬁl. “ﬁqﬂ q?;\]ﬂ'ﬁ ﬂ_ﬂﬂ[(tﬂ" m%ﬁ

T4 Fow Trea / bgantara i 3 fpa & 2

A) @0 (B) sl

C) & 11{!.]] HHY

acnam Wildhfe Sanctuary™ is situated ;

which ofthe follow P o
}f‘}l Lfldak'i} 0 ﬂgmg§wsufMﬁa?
C) Sikkim ED% A b & Kashmi

©)

ssam

MN2
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et AR T | O orow) ISR we e
e R e the “Organisation K Apoyyy " f
Frsfesfirn 3 @ fw Trein 35 ST & Chemical WESP9lo4 () 209(D) 19; /
ot mram e 2 | () 12 {B]ﬁq ATerda 1 S
(A) Tagh (8) e o7, Fraifemda
€) fmmar D) smaa "‘:Ema]ﬁ Bl [ﬁ:‘(
“Ramappa Temple” located in Palampet EC; L@ : U
S Rl | QI g, o
year 2021, had been built during the rule of language of the Ma]dgﬂsﬁzangkha
which of the following dynasties ? (A) Dari ) Divehi
(A) Musunuri (B) Bahmani (C) Malayalam +{D) l
(C) Vijayanagara (D) Kakatiyan @ g Prefefa # @ T m
63. Wl Wy % e s s whE 6 JrELEﬂWI % A
Prgfts W & feum ¥ e (A) T4 )
Ty g B a2 | (C) =T o

The Prime Minister and the other
Ministers of the Indian Union are
a;gpmnted by the President under

of the Constitution of India.

(A) 37F=38/ Article 73 (B) 3%/ Article 72

(C) 316/ Article 70 (D552 / Article 75

64. “HY" WG & Frafafed d ¥ fw
T /g wou ¥ $ydaey ey d
wefifa ueh amfies - i Fe R 2

(A) fafdmm @) s

(©) &= (D) T

“Koothu” is a socio-religious art performed

in Koothambalam temple in which of the

following State/UTs of India ?

(A) Sikkim (B) Andhra Pradesh
(C) Kerala (D) Telangana
“HA TR WreT HeA w6
frafafEn A g mmw fRE 2 ?
JAA) 7, FAH | (B) Ha, HENTg
(C) 9T, A 969(D) |, TETia
The headquarters of “Central Institute of
Indian Languages™ is situated at which
of the following places ?
(A) Mysuru, Karnataka
(B) Mumbai, Maharashtra
(C) Bhopal, Madhya Pradesh
(D) Manesar, Gurgaon

65.

70.

The “Pula” is the national currency of
which of the following countries ?

(A) Botswana (B) Cambodia
(C) Myanmar (D) Poland
| ET?ERH % frofafes § 761
AEafua g ?
(A) e Efee | (B) dfe @ifes
(C) =g afigw (D) HelGTeH Tlied

“Perungadai” is a work of epic
proportion by Kongu Velir. It belongs to
which of the following literature of India ?
(A) Telugu Literature

(B) Tamil Literature

(C) Kannada Literature

(D) Malayalam Literature

WA HEHR G T4 1967 # Frefafga 3 @

T jmﬁ?_{zm F1 T qqEHt “TH_
" ™ ?
(A) 319 w36 & - |
(B) 3791 =56 @t -]
A(C) 31 w56 a1t -1
{ﬁi‘ HEHR 5k
Which of the following gallantry awards
was renamed as “Shaurya Chakra” in the
year 1967 by Government of India ?
(A) Ashoka Chakra Class-]
(B) Ashoka Chakra Class-II
(C) Ashoka Chakra Class-111
(D) Mahavir Chakra

MN2
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T et e i am o

freferfea Tamw | g @ o r .
| ﬁﬁq;ﬁm.n. 71%5) R & 3w |, gﬂ%ﬂg‘%’[ﬁiﬁﬁ_ﬁw Aot &
LRIERE S IRE L LG $ I 2 | T o (A) WTHT Ty fr Tz
I T Bl ST SieYr 3aen @ s B (B) Frefl e ﬁ mﬁ;aﬁm
| % o @ 8wl afds, dufes g HHS 1 e
grepias smaa s § e a9 @ uw (C) fem aferl, $eow, wes 7o =@
= T T W IS a9 98 gt T W aifia I % e gl smem @ 9@
T 2 | 99 9T IR G B B a9 el W yifrfira, gdet sfi e S o

g 3o & 5 Imifer Tod SEd & 7 41 It ) D) S ST, s, e
oftTaT 1 & ? ET: 39 shh 41 SAih 9 9 U R it w6
IYSeRT ET ST R S A o R o S | 7> W%meﬁ%f_nﬁmgﬁg

SoyaT g1 1 ITE a3 wen ot =he (A) Tg-e1d 3ugeh T e e
foeft-3-frell &9 & it 81 § st s & (B) 8 U §H1A1 F_ITAM_FH A
ﬁaﬁ?{gﬂﬁgﬂ% " "-(C} mygﬁwmm
Ff¥fea, sfos @ anfils w0 & - A
. gia i B A AR | O o e S o
: T, TS T 1679 AT & AR, iR Ay | 75 T ok HEE A ] S H] 2
ﬂﬁqﬁmmﬁsﬁﬁmﬁmg (A) T 3 ufas = & grafua

¥
o f-Tm R E 3 ¥ Tad (B) ¥ frfia i :
i 1 ) T, Sofh e g | (O SR g v &

TR iz a3 frere atz R |

Y 74, WETSGEAT ASIA F A T F
& wiryor 3 o) 29 @ | WO fraeft ot domnd ol g Al a2

T AR HL, B a1 REdT ava T 2 | ’
| EFLW 2 L. L@y{mﬁm.mﬂw.uaﬁﬁ
T vivew & & o s & vefe s s R = *i 'W”IEH T
= ENA 3 ! (B) TO= , TS0 IR FYE=S T
|' e ﬁa,“! E'Ffa"l%'“ ﬁ‘ ﬁ'qﬁa‘ Hii"i“ {E) mmmaﬁaﬁtﬁaﬁaﬁ
b WA wE wEE, s o wh e € 1w E;ﬁ ; o
Tt T & & A o HfE e A d | =i 3t e e ams
firfe g% 3% ac2 fied § o3 = oS § | wifi & i R e & et €2

3R fadiao =g - 3 wE
F % 7y fead ot et 7, @ ot aw i ~
mﬁﬁamﬁﬂmmmﬁaﬁ:w‘:ﬁ --wﬁmmﬁ_ﬁww
4 @ I | 7+t w1 w0l & s fem andh 2
gt 3R fFet o St o -anae qum qem | frafaftea T S gget 7@ T Sl $ S
= 7 Folt el > aie do 8 & 3t A wurgr | R (8. . 76-80)

g1- Tt w9 | 7 wER TEh Qe @) ad yRa W W 1 3w R | Tl gE g
2 ol 7 v oy o Wé | P et e | SfeR-gRE 1 STER S0 HR T | 96 T
T foerdt, UR w2-q omaw At f feufa st | ® g WM fovan @t fifia ok woqw
B R | 30 HE T ER T e Ew | o e e e s d gl £ S
TG 1 e R 7 TR s fory e g | WL 3 e, <9 € S S AR | s
%lwmﬁﬁrﬂmaﬁmaﬁﬁmﬁxmm HA # g o1 9 TF SA-TH UH S 30 3R T
1 781 & 2 %1 W3 o A 8 g S feg | € | 9 T &
T 1 R 3 5 A1 2 2 T A g | o A @ e o

T @ TR S22 |y g Afem W SgT-SeER wol fea fams

=
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e 55 B B
s B s

=S o i
L

- A ot £ wE I B 7 3T v

HRo fiy Y e 7 fir Rk
| | 76, T PEIR IR

W —gm A E W oa 1 e e aiv ferwa E2IERAE] :

[4
aen e =159 7
-——Eﬁiﬁﬂ*mﬁaﬂtﬂﬂﬁﬁaﬁﬁmaﬁm| (A) wﬂ@ﬁﬂﬁuﬁﬂ*ﬁ%l
SHUHAL A v, st vt # H B e woai, s I A
1 ITH BHE o | W i v 36 9 % uREd B R ek G
gﬂf"ﬁ}“ﬁi?ﬁ‘ﬂiﬁimaﬁMGﬂWW o ™ £
mq‘g?&w%&ﬁﬂ!ﬂﬁﬁﬁﬂﬁl ' a"l{g%ﬁ'ﬂ# SR I
a1 ww fren i - saErE a1 R E | ,
e, 0, o Ry, wy Wy, wefl-geest i (D) PR A
A W & e frar feard 23 e w1 e | W Wmmmﬂﬁmmmﬁn
3 & A % =f wifte 8 e | Fre- fyfirs el e @i S & % fer i gy

3 HIE F g0 PR A @ Ao - A v |
A E 7
T P e 7iTd @ o1 o | W @ %’ﬁ@m@ﬁ%ﬁﬁmaﬁﬁmﬁ

HITH mmﬁ%ﬁ%@m mﬁ-&;mmﬁiﬁﬁl

< ’QSEQHI, mtw «
S TSI ST I W R | Fo A0 @ Q% A A I E |
e Wl 33T A T E AU I g e § |3 (C) wfiles Tt TSN S -T03 I WIS 8
fréa 1 & 76 vie 5wt % o =i a1 sim-ain s # af e F1 TH % ¥
B fﬁﬁ?@mw T & 9w Bid- H @ e € |
|1 faufs an 99w g ey % for § D) W % T I, I = 5
Freben T4 # | % ST 35 390 3 3 o Frard e e & S T S A A S T
#1 & | o firanh SRR AR & A 55 o R @ A AR |

I € | Fo I it 59 sraEmE # o T R | S virE oft ZEdl 1 weg P & fg s
firanfi gﬁmﬁﬁmﬁi l%@ 7 ﬁﬁ?ﬂ?ﬂif ?
W |

mﬁgﬁ;m frart (A) il s et @ R, e I
ﬁmmilnﬁﬂ%mm‘-ﬂﬁﬂﬁ (B) ¥ T forelt Rrard # Temm-09 F
e
At HH ! i ; {c Sl
w,aﬁﬁ@gmﬂaﬁtﬂnﬁmﬁﬁlm \%ﬁr{mm-m%ﬁmm|
oI % fore Taa SMEwE & foh graE u e (D) w1 fafeen Eamﬂag
_@m,w,m,wmm fafim sl gt @ oftfee
ST FHEUTEE it Mg ¢ o foTu e Bl Sl g | HEE T |
= gty S0 1 G awen 7¢ @ 7 |7, m—awﬂwﬂaa-wmjiﬁg
3R Frdett =) v 78 T3-ford s B-wR R T (A) Wegen i gz o) ge stcaen | pal
iﬁﬁﬁ.ﬂ‘m&m | T HEHR HI 79 10 °d FT (C) iU 3N g2 (D) o2 2N HGAvE

FA ) AN A R 7 R pL A E Rl g g et SR AR E 7

Feunaa WG Q@ & 7 bt difee, 701 9 6 T A) W gg WG 7 A 9 E w
?ﬁ“ﬁm?ﬁ ® # | 3 gE A o 8 |l ( %m@ﬁamaﬁtﬂanhﬁ#ﬁaqﬂ@“
Tl 1 yerh, Aad-annii € | e i e @ 23
zant 3 srearer it gl et | e it @ (B) W BR ==l % Im-¥m wH I
Wi ¥ T O TR ) SaE] O | qeg & e i a3
w2t | i@ ot el 1 @ faend @) @ (C) | g Wi T s & A
F@e T8 A 3 | W a1 SN G A e W - difedi @ fafeaa 2
i 3 g 7t T # IoE & 1A 1w (D) ¥t <m o Bid-H faufa an 9@ @
U3, A TH T Y T AR R | 1 I AR WA & for Frga A3 £ |
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kel

T

@*‘"GTL% jon®> Tyls 1% kit '
I &y ‘\FEF tg_nﬂ MI_S '_TG ‘I
e B v z2 8%
5. 81-85 : femn T s e wid | g pardaa R g =
3. o o el 2020, 201 S 2022 6 AW R | i s IR B SR
-3 , we, teETE, O, 21 ) S ok o e R T
SrEAETE 3 T § BE =AW ﬁ £ fal (7o \'rJT'Lat is the total number of shoes sales of e
) ﬁ{@-ﬁ“% | . - h‘;‘;#ﬂ ’:torfh Pama store and Ranchi store < %
| §1-85 : The given Li rpretat e : e
ghart shows El'; gﬁufﬁﬁ:ﬁ?ﬂ&?&u@;ﬁ] ﬁ'nmh:£ (A) 1140 (B) 1250 M{m 1820 2_.:. g
Char O differcnt cities Kolkata, Patna, Dhanbad, | ¥. 86-90 : T 3% § i F¥cie o
Ranchi, Asansol and Gaya during three i 3 : a1 (AL B, G D, w: A
e 2020, 2021 and 2022 Consecue | 3 F) o o4 ST T (P, QRS AT e
L . - # | qEen WE-wE Yk SACIE WE gRI W Mo
w - 2\ 0 % wiowa @ . g
> ) @ﬁmﬁﬁm%mﬁﬂﬁzwﬁm g et
1 - YR W T
el fRv T de % wfaer 1 i 2 e @_{z;?
3T TT5Y U AT4 W A @ e
o & el 8EE = 1000 et .
5 - q}ﬁmﬁzmﬁm@aﬁmﬁmﬁm gge
[Hhanbad g = Eﬁ-FE -
et | -0
g1, 1 U] % fere Ye TN h e faighl 1 ¥l e TR UF €Y Wier W 3 F] S J,’b..
i aﬂﬁ;m‘gmmfﬁﬁ FRdemanE = 1.6 g
T ST 41 ? Q. 86-90 : There are five inlet pipes (A, B, C, D 2
@'ﬁ What is the ratio of the total sales of Patna and E) and five outlet PiEﬂ (P, Q, R, S and T) 1'4-{:
store for three years to the total sales of connected to a tank. The first pie-chart represents
A sansol store forthree years ? the percentage of the tank filled by each inlet pipe
380/640 (C) 30/61 (D) 172/189 when l.Mgll the irr.ﬂel pipes are op;ned together and the
second pie-chart represents the percentage of the
82. ;'}'.T—H IR mﬁ; a3} (ank emptied by each outlet pipe when all the
i lglial. mﬂmh . “‘l’ﬂ;; outlet pipes are opened together.
et fashl Total capacity of the tank = 1000 litres
< e e 8 7 Time taken to fill the tank when all the inlet pi
Total number of shoes sales on Gaya store | are opened together = 2 minutes FE
I e sors et for e s | T wen o oy e i) 0 0
tq' Eéhuinhad stq}rc and Ranchi store together Pip® ﬂ:!:'pﬁ::m el il L;I::l::ﬂ s
or e years ! -
(A) 72.23% (B) 16.75% (C)80.51% 81% Percentape of Tank Filled msﬁmnﬂg of Tank Emptied éy_t;ﬁ
g3, 2021 ¥ SigEm & we] TR 3R u9Ee o~ | 2-
Dr T R A Sfe fah e S, =3
2022 # T R ST T 3 T 'R 33
T 1 3iEa L3
‘What t of the average sales of shoes on
Kolkata store, Pama store and Dhanbad store
in 2021 is the average sales of shoes on Ranchi 284
store, Asansol store anfULdyE store in 2022 ?
& i, w T ABDR NS D T
& 1] g, * t ¥ CiGL ]
84. ﬂznza%mqﬁm%gﬁm ﬁmmﬁhﬁ“ﬁﬁaﬁ' -
w1 = ZDZI'QFW% & odl <A | o
ﬁﬁﬁﬁ W“‘“ ? Find m,,-.appmxlmate time taken to I e
What i the rio of average s 0L S, ank I pipes A, B D, R and § are opencd
all the for the year 2020 to average Sales rogether.
o shos of all the at ;:‘ﬁyﬂr the year 2021 7 (A) 18 2/ minutes  (B1 L3 fire /minutes ©
}%g ??15%53 ) 2474 (C) 92 o2/ minues  JLE 6.67 2/ minutes
,,,,, .-.FlUU--'H—'*F—"-‘I—rF‘—""-m-H“I._L'.‘.' w3l TR - h’IN‘Z
o ? tLe = \op ;e
—13 6 S = % et %J '
Lt 1'}. a Al

H

|

\



SR L
87. &% % Wi I e M9 C g o nqm_" Q 91-95 : Study thr:‘ table charts careful), -
3 A qrEq D g ﬁ'T[{ N §5Y * T = answer the queSliDﬂS given below :.
% %) @eft F1 § 37het U3y R gR1 feg Table 1 shows the ProdU:atlnl:L. Expor
wuw 3t S UEY T g fve Mo @Fa & | Import of crude oil of 5 countries in 2020wy,
LK HAT s Shifa | Table 2 shows the percentage increase in Pmductiml
Eind_rhe é'ati]u of thn:.'d sum of the time taken Export and Import of crude oil from 2020 to 20n
y pipe C alone and time taken by pipe D ! gy,dy the tables and answer the questions :
i fill the tank to th i Y ; :
Eﬁﬂﬁ L';r pipe l!:l alon::Dan; ts;‘:]11ﬂ«:'l ?ai;:ﬂe:le I:;rm; Note : Consumption = Production + Import — Expon
alone to empty the tank. aifer1/ Table 1 :
(A) 8:15 (C) 16:17 (D) 9:13 3w/ Country | 3wwA/ | /| smma]
88. gy B 3N C g0 v 9y ¥ = v # R roduction| Export| Import|
T W Y A, D SR Eqm us wm v ¥ | [T / 2100 | 600 | 400 | a0
GUE:CCE: Rauty| Afghanistan N
(A) 3.5 fime (B) 1.67 fire EmeTey | 1400 | 400 | 300 |izee
(C) 2.89 fie (D) 42 Bangladesh
E}c :I:Te mt;kkeq by pipes B and C together to Mg /Bhutan 2000 200 | 400 | tee
15 a -
minutes more thanmtjhr?tlhn:litctla}izein:y l]?i:;ys ¥ /India 2200 500 M %,;
ﬁi ]D ﬂd E together ? mrercE /Maldives| 700 500 | 1300 | =2
.2 minutes (BY 1.67 mi g - 2= laes, o
(C) 2.39 minutes {D]] ey afer/Table2: 8% % 47"
¥/ Country | 3dted/ | T3t /| smm/ <
89. urFW P 3N R T TF w1y ¢ @il FA A Production| Export| Import | _5 -8
frem e wmamQ st TanEa™ | [Gemm/ | 20% | 15%. | 18% |
&% @reft w3 # fow Mo g & w0 : i
s HIT Afghanistan | 2§20 ¢ao0 | 492 |4
! _ _ e / 25% | 24% | 2% |
What will be the ratio of the time taken by Ban = v
: gladesh 19 SO Ya6 € |
pipes P and R together to empty the tank to s T s iy
the time taken by pipes Q, S and T together | o / Bhutan 25% 25% | 20%7
to empty the tank ? YT / India 2294|2007 15954
(A) 5:11 (B) il:El(C} 11:14| (D) 14:11 e / 24% 25% | 22% |* '.{-,
90, auf wft gz TTEY SR TSeee Ry Ay | [Maldives ®ie  Jes |2§F 0
g frat A s g iR | 91 200 i REH v AT IR AT -
WY T HIAC | TIA IR 7
If all the inlet pipes and the outlet pipes are What is the average consumption of crude
opened together then find the time taken to oil in each of the five countries in 2020 ?
empty the full tank. — (A) 1200 (B) 1680] (C) 2200 (D) 2400
[ (A) 8 ™42/ minutes I(B) 5 IHI.HUI‘H
(©) 2Fe/minaes (D) 20 e /minues | 7 gﬁiﬂ??ﬂﬁjﬁﬂﬁﬁ Eiisa
What is the average consumption of crude
5. 91.95 ; fereR <1é T v e B AT oil in each of the five countries in 2022 ?
#ra fgmy i I (A) 512 (B) 1024[(C) 2054|(D) 1568
afera 1, 2020 & 5,320 & wel et & 3eed, A | o3 2020 4 ot 2w 1 0 A - s
s 3 @ i 8, FafE afer 2, 2020 @ AT FIR 7
2022 T F & % 3o, fafa sl s A What is the export to import ratio of the
« guid @ | el &1 e w S countries together in 2020 ? -
I E | 3/60 (B) 175/13 AL
m.wst,muﬁqh 1 (D) 13/175 -
MN2 }éﬂp ob 267 H 1 o
—=Z ‘
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94. 2020 ® 2022 % H= A & @ug

ST gy Frerferfian i @ Rra 2 & e

w2 ?
(A) FIFMREE | (B) arer
(D) ATeTRE

e
V'{T?']Z‘ percentage increase in the crude oil
consumption from 2020 to 2022, is highest
for which among the following countries ?
(A) Afghanistan (B) Bangladesh
(C) Bhutan (D) Maldives

95, 2022 ¥, ffaflga et # & fpw 2w =

GA T Ha 31 o 7
x,{%mﬁ'ﬁm (B) ®TerTed

E (C) ™ (D) merds |
e

e

In 2022, which country’s import to
consumption ratio was highest among
the following countries ?

(A) Afghanistan (B) Bangladesh
(C) Bhutan (D) Maldives

. 96-100 : Fr=ferfan afeem o &1 wmgds
e L R A g o v 3 s

31479 & UTH 5000 AR JH U R | TR FeI QU H]
40% BE 37— 3T (A,B,C,D,E,F) %I
A0 8 R FT qU F AW 60% T8 AT gHH
§ TGN @1 R | W% A, A, B, C, D, E
3 F g gy & wrdt firema € | = @ wferam
AT T VR ST e SAfHREl i 44 T g
1 o foshl =1 wlawa & a0 § el sk ¥
OE =il § @ IRS g Ig gy H gr frem
% a7 gt i1 T i g R | 5
Q. 96-100 : Study the following table chart
carefully and answer the questions given below :
Akshay has 5000 litres of pure milk. He
sells 40% of the total milk to six different
persons (A, B, C, D, E, F) and the remaining
60% of total milk he utilizes in his own shop.
Each person, A, B, C, D, E and F mixes water
in pure milk. The table given below shows the
sales of milk to six different persons by
Akshay as a percentage of total sales and it

also shows the concentration of water after
adding water in pure milk by each of the six

persons.

o kv;zyf-’-

96.

98.

99.

104,

wfad / R
Person g‘ﬁ | arh e % %ﬁhe
Sales of | concentration of water
Milk (After adding water in
pure milk)
A Zﬂﬂ}"q Voo 20% ¢€oD
B 10% 2pe 10%, 222.2
C 10% ~eo 15% =g
D 10% %o° 18% 4]
E 30% ¢bo 25% Qoo
F 20% yloo 12% 4sy
=i A 3R =R C g frem o

ol AT % & 91 A 2 7 (Fma)
What is the difference between the total
quantity of water added by Person A and

that of Person C ? [aprm;imuﬂy_\_
(A) 56cfet/litres |(B) 65 #0127 litres

(C) 73l /litres (D) 75 7127/ litres

=fd C gr e e 9r 1 F= A ok
=fe E g e e g i g9 o
wafd ST TR ?

What is the respective ratio of the total
quantity of water added by Person C and the
total quantity of water added by Person E ?
(A) B:34 B} §1: 287

(C) B83:285

e # @ fre 1g g ¥ wad s O
§ (eftex &) orft foreman 7

Who among the following added least
quantity (in litres) of water in pure milk ?
(A)B| B)C (O D @ODF

WA wfe, A, B 3 C 39 99 91 T 97
§ e € @ Ju gt § qu A R w/q
Erft 7 (wma) o
Suppose, A, B and C mix their solutions in
one vessel then what would he:,-_ the
concentration of milk in the new solution 7
(approximately)
A) 75.2%
it eaforat gra faerst 9 e ezt ot

rar A 7 i,ﬂ'-‘l‘!-llll' i :
E;w many total litres of water wis added by

1l the persons togethe I 4 .;m!::!g;tsl;;
:M 460 () 450

(B) 78.21%
(D) 8§9.65%





